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General Instructions : 

(i) The question paper comprises of two sections, A and B. You are to 
attempt both the sections. 

(ii) All questions are compulsory. 
(iii) There is no overall choice. However, internal choice has been 

provided in all the three questions of fiue marks category. Only one 
option in such questions is to be attempted. 

(iv) All questions of Section A and all questions of Section B are to be 
attempted separately. 

(v) Questions number 1 to 4 in Section A are one mark questions. 
These are to be answered in one word or one sentence. 

(vi) Questions number 5 to 13 in Section A are two mark questions. 
These are to be answered in about 30 words each. 

(vii) Questions number 14 to 22 in Section A are three mark questions. 
These are to be answered in about 50 words each. 

(viii) Questions number 23 to 25 in Section A are five mark questions. 
These are to be answered in about 70 words each. 

(ix) Questions number 26 to 41 in Section B are multiple choice 
questions based on practical skills. Each question is a one mark 
question. You are to select one most appropriate response out of the 
four provided to you. 

~ f.rtfr: 

31 /1 

(i) W JrR" W CfiT ~ wit, 'JfJ1T 31 3#< 'lffiT ~~ if iifkT 1TllT ~ I amc1iT # wit 
itmit~~~·, 

(ii) trW J{R" ~ I I 

(iiiJ ~ J{R" w w cit( ~ ~ ~ 1 rwg qJq-qJq 3/qff it rtR m= if J{R" 

'4trrff ~ fr:!lr 1TllT # I R rrRf if 31Trr ~ JrR" '4trrff l!!fi ~ CfiT ~ 
~itfc:rl?:F~It 

(iv) amc1iT 'lffiT 31 3#< 'lffiT ~ it trift rrRf it ~ ~-~ 'lffiT ~ W ~ m I 
( v) 'lffiT 31 it JrR" ~ 1 # 4 it JrR" T!%-l!!fi Jiq; it I I ~ -am !!% ~ 

3fflCfT l!!fi qrq<1 if ~ I 

(vi) 'JfT1T 31 it JrR" ~ 5 ir 13 it rrR ~-~ 3/qff it I I ~ ~ 'Wf'Jr1T 

30-30 ~ if # f I 

(vii) 'J1f1T 31 it rrR ~ 14 # 22 it rrR rfR-rfR 3/qff it ~ I m 3rf< ff1N1T 

50·50 ~ if # f I 
(viii) 'J1f1T 31 it JrR" ~ 23 if 25 it rrR WrJ-qJq 3fq;J it ~· I m 6rf( ff1N1T 

10 ~if# It 
(ixJ 'J1f1T ar t J{R" ~ 26 ir 41 it rwr Jlmmr4i'/i ~ w 31fP:lTfffr at§Rii'/if47 

J{R" I I ~ rrR l!!fi Jfq; CfiT j I ~ w ~ f¥tiftir if # amc1iT imM !!% 
M~~TRJffl 
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SECTION A 
'WT ;>[ 

1. Draw the structure for ethanoic acid molecule, CH
3
COOH. 

~~1l$<h ~ ~, CH3COOH 'lit W'iRT ~ ~ I 

2. Give an example of a phenomenon where Tyndall effect can be 
observed. 

f;rn qf\'12'11 i\ ~ m 'Iii ~ "'T "(Iii; = ""' a<;l$\'1 ~ 

1 

1 

3. What is meant by biological magnification ? 1 

fi ~ "<hi 'f'l1 oN ito~ ~ ? 

4. Give an example to illustrate that indiscriminate use of pesticides may 
result in the degradation of the environment. 1 

'll' ~ '- fur!: I'!; <il~"'"lll<hl "<hi mitfirn m ~ "1"1"''' "<hi r'...n"'''l q;{ 

m ~, itt ""' d<I0\'1 ~ 1 

5. How does the valency of elements vary (i) in going down a group, and 
(ii) in going from left to right in a period of the periodic table ? 2 

awr<~ m\Uft il m<rr <tt ti<il"'"'"l i\ ilir qf\"J" ito~ ~. 
(i) M 'l1l i\ :mdt ~ "lR il ? 

cuJ M awr<~ i\ omt it ?J1f "!R il ? 

6. In the modern periodic table, the element Calcium (atomic number;:;::; 
20) is surrounded by elements with atomic numbers 12, 19, 21 and 38. 
Which of these elements has p~ysical and chemical properties 
resembling those of Calcium and why ? 2 

~ awr<~ m\Uft il - <tFctFl4 c~ lli'li<h ~ 2oJ, 'Iii m "'~"!# m<if t 
~ lli'li<h 12, 19, 21 am 38 r 1 '" m<rr il it mii~; ~ am \I~I"R"' :rrr 
<tr "''" 4 it firffit-~ mit am 'f'iT ) 

7. State any four characteristics of the 1mage of an object formed by a 
plane mirror. 2 

Wlm'f <:'fur ];!U M f.f"'f t ~ om: "f"F""' 'lit <hi{ <rR f« il "11 ~ ~ 1 

8. Draw a ray diagram to show the refraction of light through a glass 
prism. Mark on it (a) the incident ray, (b) the emergent ray and (c) the 
angle of deviation. 2 

""' "<hi<~ t ~ ];!U 'f<hP/1 t om<R 'Iii ~ t fur!: ""' fiRur m ~ 1 ~ 
m "' ~ ~ c"'J ~ fiRur, (<51) f.pfu fiRur am c"l Rl"'"H itur 1 
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9. Expl~n with the help of a diagram) how we are able to observe the 
sunrise about two minutes before the sun gets above the horizon. 

~ ~ ~ ~ ~ fcl:; ~ fcM:r ~~cit qmtq if wf t ~ ~ 
3i'Rrn~mfl:Rz~m&~~~ 

10. List any four reasons for vegetative propagation being practised in the 
growth of some type of plants. 

~ ~ ~ 'C!lm ~ ~ .q ~ (vegetative) ~$r trfc:fr m ~ ~ -:em: CfiRUT 

~1 

11. Describe the role of fallopian tubes in the female reproductive system. 

~ ~ {Rf "tf 4JMlftllH-~~ ~ ~ q;r crof<l ~ I 

12. List any four disadvantages of using fossH fuels for the production of 
energy. 

"3Wlf fi ~ ~ '5llcl!~'ll ~ -&:; ~ ~ ~ ~ ~ ~ 1 

13. Give two examples each of the following : 

(i) Renewable sources of energy 

(il) Non-renewable sources of energy 

f1klf~R9M 'ij "B" ~ ~ fulz m-m ~crr ~ : 
(i) "3Wlf ~ +=t"ICfl{Ufl~ mn 
(ii) ~ ~ ~"lcfiCfl<Dfl~ mrr 

. 14. Write chemical equations for what happens when 

(i) sodium metal is added to ethanoic acid. 

(ii) solid sodium carbonate is added to ethanoic acid. 

(iii) ethanoic acid reacts with a dilute solution of sodium hydroxide. 

R1:1f<1f~o r~rdtii .q 7ilr mn- t m ~ {IB10!JR4l *14'1&1<01 ~ ·= 

(i) t0;:fl~q; ~ it BHs~q mg ~ 5l'RT ~ ~ 1 

(ii) t0"'11~'h ~ .q om flifS44 &11~42 ~ ~ ~ 

Ciii) ~~rfi~Cfl ~ J1r~ll'l ~~~~r<R"ll~-s ~ ~ Ph"PF1 ~ ~ ~ q:;{ffi ~ 
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15. The atomic number of an element is 16. Predict 

(i) the number of valence electrons in its atom 

(ii) its valency 

(iii) its group number 

(iv) whether it is a metal or a non-metal 

(v) the nature of oxide formed by it 

(vi) the formula of its chloride 3 

~ mer q:;r 1WifUJ ~ 16 ~ t ~ ~ # ~ ~ 
(i) ~ WITllJ # ~~l\:llih\"11 ~t1~T<1l ~ ~ 
(ii) ~ ~li)\i!Cfl\"11 

(iii) ~ qrf q:;r 'ffi'!T 

(iv) ~ ~ ~ '*~err 3-lmg 
( v) ~ 'Q'T'C{f 3'114fll $:S ctl ~ 
(vi) ~ <'k1l~:J$:S CflT m 

0. 

16. An object is placed between infinity and the pole of a convex mirror. 
Draw a ray diagram and also state the position, the relative size and 
. the nature of the image formed. 3 

\% ~ qj) ~ 3Wf ~ ~ ~ am: ¥ (-Qt;:r) ~ ~ "{@ -miT ~ l ~ Wlfu .q 
~ ~ ~ 7f1:!: >~RifGIJO<Sf ~ fffi!: ~ m ~ 3fR $l f(jfGtl<Sf ~ ~ -rr ~ 
- ~ Wlfu, ~ ~ ~ ~ ~ ~ I 

17. What is the principle of reversibility of light ? Show that the incident 
ray of light is parallel to the emergent ray of light when light falls 
obliquely on a side of a rectangular glass slab. 3 

~ 'll1 <3@llioncq\"11 (reversibility) CflT ~ CFliT ~ ? ~ fcn ~ ~ fcfi\uT 
fcfim 3'llll\"11ihl{ ~ ~ ~ ~ m1 LR fumY 3mft:r\"1" ~ ~ dl ~ >r<fiJ'Vf · fcfi\uT 
f.:rfu ~ fci:>{ur ~ ~ iRft ~ l . 

18. What eye defect is myopia ? Describe with a neat diagram how this 
defect of vision can be corrected by using a suitable lens. 3 

frrcR" ~ ~ ~ ~ ~ ~ ? ~ m- m ~ BIOi~~~~ fcn ~ ~ CiiT w.iPT 
~ -tB ~ ~ ~ Cf)f f.:rcl"RuT ~ <m "BCfiffi t l 

19. What does HIV stand for ? Is AIDS an infectious disease ? List any 
four modes of spreading AIDS. 3 

HIV CfliT ~ Cfi\ciT ~ ? q:<n AIDS -q:cn fi9hlllC!i WT ~ ? AIDS ~ ~ cfiT col{ 
Tffi ~ ~i!l&J~ ~ 
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20. Describe any three ways in which individuals with a particular trait 
may increase in population. 3 

~ ~ l):m ~ CfiT quf::r ~ ~ fcfim ~ 'PI (~~I151Cfl) ~ ~ amt 
~q;;r~~~~~ 

21. State the evidence we have for the origin of life from inanimate matter. 3 

f.r;;ffq ~ ~ i\q.f ~ ~ it ~ '5!l1TUT CfiT ~ ~ I 

22. What are fossils? What do they tell us about the process of evolution? 3 

..,·h=ll~~ CfliT ~ ~ ? ~~~it~~~ CfliT arnffi ~ ? 

23. (a) State two properties of carbon which lead to a very large number 

of carbon compounds. 

(b) Why does micelle formation take place when soap is added to 

water ? Why are micelles not formed when soap is added to 

ethanol ? 

OR 

Explain isomerism. State any four characteristics of isomers. Draw 

5 

the structures of possible isomers of butane, C4H10• 5 

(qj) ~ it Gl ~ :run CfiT ~ ~ ~ ~ cftFim q;;r ~ cit am, ~ 
~~I 

("&) ~ ~ cit ~ Ti ~ ~ ~ "ffi ~ firffi:l (micelle) <flit ~ % ? 
~ cit l{2ll<iT e1 '# fiR>1R ~ ~ <flit ~ ~ ? 

w.;rqr 

ftsiiC=Il!CH'11 q;it OlJ11§I1T ~ I fl'iiC1'4M4i ~ t:flW ~ fq~t'(tll~ ~ I ~ (C4H10) 

it ~ fi4Jql!fcp:j~j q;it ~ ~ ~ I 

24. (a) What is meant by 'power of a lens' ? 

31/1 

(b) State and define the S.I. unit of power of a lens. 

(c) A convex lens of focal length 25 em and a concave lens of focal 
length 10 em are placed in close contact with each other. 
Calculate the lens power of this combination. -5 

OR 
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(a) Draw a ray diagram to show the fonnation of image of an object 
placed between infinity and the optical centre of a concave lens. 

(b) A concave lens of focal length 15 em forms an image 10 ern from 
the lens. 

Calculate 

(i) the distance of the object from the lens 

(ii) the magnification for the image formed 

(iii) the nature of the image formed 

(en) ~~ .g ~ ("CITCR)' B" Cflll ~ \Jffiff ~ ? 

(\9) ~ ~ PJ1rffi ~ S.I. ~ q;r -:::f1l1 ~ ~ ~ I 

(Tf) ~ ~ 25 wn- ~ ~ ~ ~ ~ ~ 10 ~ ~ ~ tAl cit 
1!,Cfi-~ ~ 3lfu RcR ~ -rnT 1l7:fT ~ I ~ B ~ \l1 '1 ~ ffiQ: ~ .g e;rtrnT ~ 
qf<q;f'ctd ~ I 

~ 

(en) 1!.Cfi ~ ~ ~ SICfll~l'"'ti ~ ~ ~ ~ ~ ni ~ CfiT 51f<1fdl14 ~ 

~itful:!:~~~~ I 

("~) ~ ~ 15 Wff- q;r 1!,Cfi ~ ~ ~ B 10 ~ ~ tR sd"rl~~ ~ 

~ I 

qf{q;f'ctd ~ 

(i) ~ ~ ~ .g ~ 
(ii) Jl'l1{f 51FctF~14 ~ ful:!: ~ 
(iii) Jl'l1{f 51FctF~14 ~ ~ 

5 

25. With the help of suitable diagrams, explain the various steps of 

3111 

budding in Hydra. 5 
OR 

What is binary fission in organisms ? With the help of suitable 
diagrams, describe the mode of reproduction in Amoeba. 5 

~ filiT ~ fl~l"''dl ~~(Hydra) it~ (Cf)t1qHI) it~~ .g ~ 
~I. 

~ 

~ .q fu-~ (binary fission)~ CFrr ~ * ? '3iirn RBIT Cbl fl!WH11 ~ ~ 
.q~~q:;r~~l 
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SECTIONB 
qp'J1f 

26. To find the focal length of a concave mirror, Sita should choose which 
one of the following set-ups ? 1 

(A) A mirror holder and a screen holder 

(B) A screen holder and a scale 

(C) A mirror holder, a screen holder and a scale 

(DJ A screen, a mirror, holders for them and a scale 

~ ~ G'fuT c6t ~ ~ ~ .m- ~ ~ -mm ir f.Jr;r ~.m ~ ~ ~ 
~WIT? 

(A) ~ G'fuT ~ ~ ~ ~ ~ 

(B) ~ ~ ~ 3fu: ~ ~ 

(C) ~ G'fuT ~. ~ ~ ~ 3fu: ~ ~ 

<D) ~ ~. ~ G'tul, ~ ~ m a:m: ~ ~ 

27. By using a convex lens, a student obtained a .sharp image of his 
class-room window grill on a screen. In which direction should he move 
the lens to focus a distant tree instead of the grill ? 1 

(A) Towards the screen 

(B) Away from the screen 

(C) Very far away from the screen 

(D) Behind the screen 

3m1' ~ qjl ~ cp ~ rn;r ;, ~ Cfil;TI-~ it ~ ~ ~ ftffi qjT tii1I 

("ffim) Sifct~LGI ~ ~ li\ >rf'C<1 ~ l fmwr ~ ~ -:::- ~ ~ ~ qjT SifctR!kl 
~ <~) <m- t ~ ~ <iT ~ ~ ~ ~ -=- -:3'il€hHI WIT ? 

(A) tR qit afR 

(B) tR * ~ 
(C) tR * ~ ~ 
(D) tR t ~ 
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28. To determine the focal length of a convex lens by obtaining a sharp 
image of a distant object, the following steps were suggested which are 
not in proper sequence : 

I. Hold the lens between the object and the screen. 

II. Adjust the position of the lens to form a sharp image. 

III. Select a suitable distant object. 

IV. Measure the distance between the lens and the screen. 

The correct sequence of steps to determine the focal length of the 
lens is 

(A) III, I, II, IV 

(C) III, IV, II, I 

(B) III, I, IV, II 

(I)) I, II, III, IV 

~ ~ it f<ri«f q;r ~ (<i'l<9T) ~f<ifilkl >!r<l cor ~ 3TR'f <"Rr 'h'l ~ ~ "ffid 
m it >rlli'1 it "'q{Uj ~ fu"@ '& ~ "0'fT ~ 3)q; 1@ ~ 

r. ~ <R ~ om ~ it; <fRr ~ 1 

II. ~ q;r m 3)q; cor ~ Qf<iMkl >!r<! ~ I 

III. ~ ~ ~ 'hi ~ ~ I 

IV. ~ om ~ if; <fRr 'h't ~ ~ I 
~ 'h1 ~ <;:.U Rmftl m it ~ ~ q;r ~ ~ irrr 

(A) III, I, II, IV 

(C) III, IV, II, I 

(B) III, I, IV, II 

(D) I, II, III, IV 

29. In these diagrams, the angle of refraction r has been correctly marked 

1 

in which diagram ? 1 

r 

r 

r 

I II III IV 

(A) I (B) II 

(C) III (I)) IV 
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r 

r 

I II 

(A) I 

(C) III 

III 

(B) II 

(D) IV 

r 

IV 

30. For a ray of light passing through a glass slab 

31 I 1 

the lateral displacement was correctly measured as 
(A) AB (B) PQ 

(C) CD (D) PR 

q;fq <tt tt1<r ii it "'" ~ f1RuT ~ """H ~ fu1( f1RuT ~ q'~""' r«l!'ll4'l <tt 
z)q; 'lT'R 'hT l'IR t 

(A) AB 

(C) CD 

' A ,B 
p, 

' 

10 

(B) PQ 

(D) PR 
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31. Iron nails were dipped in an aqueous solution of copper sulphate. After 
about 30 minutes, it. was observed that the colour of the solution 
changed from 1 

(A) colourless to light green. 

(B) blue to light green. 

(C) blue to colourless. 

(D) green to blue. 

W ~ il; ~ flii'l '11 it ~ <;it <fult <;it ~ 'T'!T I ~ 30 f'Ri: ~. 
'l1i' ~ 1]11] fil; ~ "' trr 
(A) mr.r i\ ~ 1!'J lit 'f'IT I 

(B) -;fril it rMil 1!'J lit 'f'IT I 

c c) -;fr€1 it mr.r m -
(D) it it ;f\m t 'f'IT I 

32. A cleaned alum.inium foil waa placed ln an aqueous solution of zinc 
sulphate. When the aluniinium foil was taken out of the zinc sulphate 
solution after 15 minutes, its surface was found to be coated with a 
silvery grey deposit. From the above observation it can be concluded 

31/1 

that 1 

(A) aluminium is more reactive than zinc. 

(B) zinc is more reactive than aluminium. 

(C) zinc and aluminium both are equally reactive. 

tD) zinc and aluminium both are non-reactive. 

it<jfliF.J~q ll; m)li - qij m ~ il; ~ ~ it m - 1 "lil 15 flfl< 
~. ~ijft!R'I4 ll; - qij m ~ it ~ i\ ~ 1]11] cit ~ i1i'l qij 

~ ;h't '{'R (i\) trr il; 'ffil i\ O<hT Wll 'l'ff I j!! ill'lctlil>4 it '11' 'lfl:urrq ~ 

"!! '\110ild 1% 

(A) ~(jfilf144 F.ril> it ~ f"''ll~fl<o t I 

(B) m ~iijfqf<i'l4 it ~ fMilfii'l t I 

(C) F.ril> aih: ~iijf'if1'14 zyj'i m ~ 'i'r fi!fJ!i;m•n'9flil"""' ~ 1 

CDJ m am: ~iijfef<i44 zyn ~ ~ 1 

11 P.T.O. 
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33. Vapours of acetic acid smell 1 

(A) pungent like vinegar. 

(B) sweet like rose. 

(C) suffocating like sulphur dioxide. 

(D) odourless like water. 

~ffifl<b ~ "*r ~ ~ 'J'Pl M w 

(A) fuicJl ~ <fret I 

(B) ~ ~ lfroT I 

(C) ~ ~3i1Cf81~:S ~ ~ ~ ~ 

(D) ~~~I 

34. Acetic acid reacts with solid sodium hydrogen carbonate 1 

(A) slowly forming no gas. 

(B) ~igorously with effervescence. 

(C) slowly without effervescence. 

(D) vigorously without gas formation. 

Q:fflflCfl ~ om ~1f.s qq ~l$~1'll'i &>l&.?f4z: ~ ~ ~ ~ 

(A) ~-~ f.iRr 'ifB ~ I 

(B) ~ m:wrr 'it 141<::1t:2 ~ ~ 

(C) i:fit-mt ~ 1<~<11~2 t I 

(D) ~ <fumT if ~ ~ ~ I 
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35. A student added acetic acid to test tubes I, II, III and IV containing 
the labelled substances and then brought a burning splinter near the 
mouth of each test tube. 

31/1 

1 II III IV 

NaOH NaCl NaHC03 Ca(OH)2 

The splinter would be extinguished when brought near the mouth of 
test tube 1 

(A) I 

(B) II 

(C) III 

(D) IV 

el4if'i;o <r<r!l ni-t ~ R"! 4meFc1'W I, II, III 3ffi IV i'i '% ill'f -.:m ~tiiR:<t 

~ l'ilill<rr 'l'!T 3iR fil;1: '% ~ S" frRi!; <it q "''" FiFli iii ~ iii 'lrn "ill1!T 'l'!T I 

I II III IV 

NaOH NaCl NaHC03 Ca(0Hl2 

fiFH 4(@'1<1°1 iii ~ ;:,. 'lrn C1f.\ 'R ~ ilR<tT ~ ~ ' 
(A) I 

(B) II 

(C) III 

CDl IV 
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36. The shape of yeast cell is 

(A) only sphericaL 

(B) only oval. 

(C) irregular. 

(D) both oval and sphericaL 

<S'ffi (<fiR) #or 'lit ~ -.tiT # 
(A) ~ •n c11'!>1\ I 

(B) ~~I 

(C) Oi'!9-~ ('" f.l'llil C\ ) 

(D) ~ affi '~C11'1il\ ~ I 

37. The steps involved in observing a slide under a microscope are given 
below. They are not in proper sequence. 

I. Focus the object rmder high power of the microscope. 

II. Place the slide on the stage of the microscope. 

III. Arrange the mirror to reflect maximum light to the slide. 

IV. Focus the object under low power of the microscope. 

The proper sequence of steps is 

(A) II, III, N, I 

(B) I, II, III, N 

(C) N, III, II, I 

(D) III, I, II, N 

"(('li ~ 'lit ~ i\ 00 i\; Tf(U] *'t fu@: t 'R'<.l 3""'f'liT 1m ~ '1"@ # 
I. ~ it ~ 'lit 3«1 1\T'l"C\T ('lffi) <n: chl'liF!lo ~ I 
II. ~ it ~ 'lit ~ 'R '\fun:( I 

III. <!fur 'WI it F·l'lF-'.lC\ <R ~ <n: ~ wmr ~ 
N. ~ it '!,1\'l<;~if 'lit f.r=r 1\T'l"C\T <n: chl'!iF!lC1 ~ I 
'f\Ui('li[~JmWrr 

(A) II, III, N, I 

(B) I, II, III, N 

(C) IV, III, II, I 

(D) III, I, II, N 
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38. The giVen figures illustrate binary fission in Amoeba. in improper 
order. 

@8 ~ ~ ·~ 
I II III IV 

The correct order is 1 
CAl III, IV, II, I 
(B) IV, III, II, I 
(C) II, III, IV, I 
(D) I, III, IV, II 

<it 71{ <lll~fi1""1l i'f ~ ~ ft;:-~ q:;r ~ <lll1 ~ 11'11 ~ 

@8~ ~ ~ 
I II III IV 

t@<lll1irlr 

(A) III, IV, II, I 

(B) IV, III, II, I 

(C) II, III, IV, I 

(D) I, III, Iv, II 

39. During the course of an experiment, 'to determine the percentage of 

31 /1 

water absorbed by raisins', raisins are weighed 1 

(A) every half an hour. 

(B) every hour. 

(C) once- only after completing the experiment. 

(D) two times- before soaking and after soaking for three hours. 

'F<Mii11~1 ~ r;Rt m Wrfirff ~ q:;r >rRm<r ~ m' ~ m i'f ~ r;Rt cit nm-r ;;m;T 

~ 
(A) ~ 31Jit ~ ~ I 
(B) ~ -qoi ~I 

(C) m 'J:.U ~ ~ '11: ~ ~ <m: I 

CD) c:t <m:, f1riR it ~ am -aR -qrrZ ~ ~ ~ ~ I 
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40. The colour of raisins as used in the experiment, 'to determine the 
percentage of water absorbed by raisins' was 1 

(A) white 

(B) yellow 

(C) dark brown 

(D) pink 

'fctl~IM~I ~ c:r.=IT ~ ~ ~ q:;r >rl?imf ~ ~~ ~ ~ -q ~ fctl~lf'"l~l ~ -ey;IT 
q:;r trr ~ ~ 
(A) "fcrn 
( B ) "Cfrc?rr 

(C) ~ '1fU 
(D) ~ 

41. Following are the steps involved in the experiment 'to determine the 
percentage of water absorbed by raisins'. They are not in proper 
sequence. 

I. Soak the raisins in fresh water. 

II. Weigh dry raisins. 

III. Weigh soaked raisins. 

IV. Wipe out soaked raisins. 

The correct sequence of steps is 1 
(A) I, II, III, IV 
(B) II, I, IV, III 
(C) II, I, III, I\1 
(I)) I, II, I\1, III 

'FCfl~fq~l ~ .c;r;:ff "[RT ~ ~ q:;r >rf?im1 ~ ~· ~ ~ if f.::r@=r ~ RYRif'Th'n 
~~ ~ ~ oqq~J SP1 "d1cti ~ ~ I 

I. fCh ~ I fll ~ I ~ c:Rf coT d@f -qr;:ft -q ~ 1 \ 

II. ~ Fcti~IM~I it; zy:fi coT ~ I 
III. ~- fCfl:\!lfJ:J~I ~ zy:fi coT ol"R I 

IV 'lfrTt fcn~trl1~1 ~ c::r.n c8 W 
~q:;r3"furr~-&rr 
(A) I, II, III, IV 

(B) II, I, l\1, III 

(C) II, I, III, IV 

(D) I, II, IV, III 

31/1 16 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers




